pivider is made of and .
a) High carbon steel, Mild steel

b) Mild steel, Alloy steel g
c) Alloy steel, Cast iron (@)
d) High carbon steel, Stainless steel 0]
is an example of marking tool.
a) Micrometer o)
b) Vernier Caliper (@)
c) Divider 0)
d) None of these @)
What is the range of a circle is drawn by a trammel?
a) 0to 150 mm @)
b) 150 to 300 mm o)
c) 150 to 500 mm (o)
d) All of these (0]
The size of divider is measured from ______ to working point.

a) Rivet Head

b) Rivet center
c) Pivot

d) None of these
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“The trammel is used for drawing parallel line.” The statement is-—
a) True 0] :
b) False 0]

Divider is used for drawing

a) Straight line

b) Parallel line

c) Bigline s,

d) None of these ‘c;"\“‘,’
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Caliper is made of i ) A
a) Castiron

b) Carbon steel
c) Mild steel

d) Stainless steel

The size of caliper is from the centre of rivet to
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a) Leg point o)
b) Pivot . (o)
c) Leg 0]

d) None of these 0.

Which is used for permanent marking?
a) Divider
b) Trammel
c) Caliper
d) Punch

Punch is made of
a) HCS
b) MS
c) SS
d) All of these
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Which is more accurate measuring instrument?
a) Vernier Caliper O

b) Steel rule O
c). Divider O
d) None of these @)

is marked by a key steel rule.

a) Bore O
b) Hole O
c) Key way O
d) All of these @)

What is the standard length of a steel rule?
a) 150 mm to 300 mm

b) 150 mm to 600 mm

c) 150 mm to 1200 mm

d) None of these
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. Which is used to make a hole in wooden block?

a) Hot Chisel - 0
b) Cold Chisel O
c) Both 0

‘d) None of these O

is used to clean the drill hole.

a) Gimlet O
b) Pucker 0]
c) Either 0O
d) None of these O



